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UNIVERSITY OF NORTH BENGAL 

B.A. Honours Part-III Examination, 2021 

SOCIOLOGY 

PAPER-VI 

URBAN AND INDUSTRIAL SOCIETY IN INDIA 

Time Allotted: 4 Hours Full Marks: 100 

ASSIGNMENT 

The figures in the margin indicate full marks. 

EACH ANSWER SHOULD BE LIMITED TO 1400 WORDS 

 GROUP-A  

 Answer any two of the following questions 20×2 = 40 

1. What is urbanism? Discuss Louis Wirth’s theory of urbanism as a way of life.  

   

2. What is urbanization? Discuss the trend of urban development in India during the 

colonial period. 

 

   

3. Critically analyse the impact of urbanization on family and caste in India.  

   

4. Define slum. Discuss the causes of growth of slums in India.  

   

 GROUP-B  

 Answer any two of the following questions 20×2 = 40 

5. Define industrial sociology. Discuss its nature and scope.  

   

6. Define organized and unorganized labour. Discuss the problems faced by 

unorganized labour in contemporary India. 

 

   

7. Explain the concept of liberalization. Critically discuss its impact on Indian 

economy. 
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8. Define Trade Union. Discuss the functions of Trade Union. What are the 

challenges the Trade Union movement face in the post liberalization era? 

 

   

 GROUP-C  

9. Write short notes on any four of the following: 5×4 = 20 

(a) Post industrial society  

(b) Urban renewal  

(c) Urban ecology  

(d) Green belt  

(e) Industrial tribunal  

(f) Migration.  
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